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2.4 Fourth set
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shénme dong X1 shou JT

what east west hand machine
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shii bao bi che zi san gui
book pack; writing vehicle  (child) umbrella expensive;
bundle implement with nouns worthy

T4 %

343 2+6 6+0 4+7

zi dian xing nin
character records walk; go; be okay  you [POL]
Notes

a) Simplification is not a new process; it has been going on since the creation of
the writing system. It continues even in the traditional set. The first character of
11 Ji%, for example, is an older simplification of # that substitutes the phonetically
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close + for the more complicated original, then marks it with rénzipang. The &
of & 3t is another substitution that has gained currency in the traditional font as
an alternative for original £ . Both simplifications have a long history, and have
now gained acceptance in Taiwan and traditional communities. Both can now be
used in the traditional set.

b) East, in its traditional form () shows ‘dawn in the east, with the sun (B)
coming up through the trees (& )’. The characters, £ G/ ¥, suggest that the
compound is derived from ‘east-west’, ie the plane of existence, ‘where all things
are’. £ was employed as a phonetic element in Fg, and the relationship remains
in the simplified forms: & /%.

¢) 5 ‘hand’, itself a radical (with a pictographic origin), has a rather different
combining form, seen on the left of characters such as 4 * 4 » 4% » 4. The
traditional version of the two graphs (#/4), with its complicated right-hand
element, is more suggestive of the meaning ‘machine’. (Cf. 4/ KL feiji
‘airplane’.)

d) Z consists of 3 yu ‘a writing implement’ and &, the latter, distinct from H.
In %, & is determined by the element at the top, the bamboo radical (a
combining version of 4 zhu ‘bamboo’); early writing implements were made out
of bamboo. &, ,whose root meaning is ‘to wrap’ or ‘a bundle’, looks quite like a
bundle.

e) The rule of 5: characters like & (or % bi ‘writing implement’ that also contains
Z), which exhibit many horizontal layers are sometimes difficult to resolve.

Fortunately, for many such graphs, the RULE OF 5 applies. The rule of 5 states
that if the character seems to have a lot of horizontal levels, it has five! Boxes
count as one layer; boxes with an internal horizontal (B ) count as 2, etc. Z (as

well as &, %) is an example; so is the left-hand side of nan #£ (the top counts for
2, the box 1 and the lower horizontals, another 2, for a total of 5).

f) The traditional form & , originally a drawing from overhead of a cart, is itself a
radical (appearing in characters such as # > #& > $£). The graph T zi (distinct
from 5 zi ‘written character’) was originally a drawing of a child. If fully toned,
it generally means ‘young; child of; seed of”: £ -F wangzi ‘prince (king’s son)’,
X F tianzi ‘emperor (son of heaven)’, #2-F songzi ‘pine nut (child of pine)’, ¥&
- xiazi ‘shrimp roe (child of shrimp)’. However, in its untoned form, -F acts as a
noun suffix, appearing with nouns that refer to things from everyday life: £ F
zhuozi ‘table’; # F yizi ‘chair’; 3 -F bizi ‘nose’; #&-F banzi ‘spanner; wrench’.

g) 4/4> look like umbrellas.
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h) &/97 gui ‘expensive’ introduces the important element El/ I béi, a graph that
is said to originate as a drawing of a cowrie shell, used as currency along the
southwest coast of China in ancient times. El/)! appears as radical in characters

o

for many word involving transactions, such as & maii ‘buy’, ¥ mai ‘sell’ and &
bao ‘valuable’.

i) F zi ‘characters’ (‘a child, -F, under a roof, studying characters”). # is said to
be composed of At ‘classic books’ on a stand, suggesting ‘a repository of
information’.

j) 4T is its own radical (said to have originated as a picture of crossroads). It
generally combines with other elements placed internally, eg 7, #7. The core
meaning of xing is ‘street; walk’, or by extension, ‘to work (of machines)’, ‘be
okay’ etc. The same graph is also used for hang ‘row’, and by extension (via
things that are arranged in rows), ‘firm; business’, eg 4T yinhang ‘bank (silver-
business)’. The word has entered English historical writing, from Cantonese, as
hong, meaning ‘factory; warehouse’.

2.4.1 Compounds

R4 wdH REE FA Hé 2

wo de san ta de shi ni de bi shoujt shiibao shénme
N ¥ F GES ey L
dongxi chézi zididn xingli Nin héo. Xing ma?
wegFHe  RAE. LE Wk KT N
Shéi de shai? Me¢éiyou bi. shangché Guixing? bu tai gui dongxi
ff2 A8 R3] ¥ FeEs FHTa RE
shénme dongxi  hén gui chezi xing L1 shoujT b gui méi bi
RE & TR =18 R KT A7
hén jinzhang késhi san ge xianzai qilai le zou le
CEHAMRT = 2 bF RAMFT. BERER TH
yijing kanbao le Gao ldosht Xianzai hdo le. hai méi qilai bu dui
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2.4.2 Set 3 in fantizi

A VART R iR AR E RE

kanbao yiqian xianzai zai zhér zai bao shang  qilai

EE:3 T~ A=) Rk T VA =53
ké&shi b dui lao Gao de jinzhang hai kéyi danshi
=mgE A r&iESRL AT EROK T&
san ge xuéshéng nei ya ng zai wo zhér zoule zudtian de bao  bu gao

2.4.3 Readings
a) A Narrative (fantizi) with questions

ITHRPXEN A+ EEAE MR ERT o PRI {27
Bk A HAT o SRAA—B > LRF K o HEEAMRER
Rt > AR R o ML AMBE AR > F g o JERA T AR o fd
FEHEEFAEAE o HHRIZARYT » RER o ek > L3R TAT > #H957?

Questions

1. TR ERsEeE? 2. EHEFA=—TMEEAL HBH?
3. feE3ETE? 4. PXEBK?

5. IR ALEBR? 6. FARKB?

7. WERRAGE F 8. NERAYE E R AR?

9. Gty 2 A 2 10.  Aeggr > L3R ATTAT?
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b) A Dialogue
A 2T
iR ARAF o NI ARIF o A RE 2K D
B AR EA R —BILE - K&
VLR o ARYE T ARAR T 7
RIe » Tk » ROLZLT - IFeeD 2
TAT o 4F AP KA T - iR (qugo) ™D ?
T AR ER WA R -
Elf] /I'\y'_u o
Exercise 4.

Answer the questions below by checking the information in the following table:

% — FH =2 8y A— B
%= £% ok K
% = N EF PN D) A — 2L
% v Hé, ANEL 3t
%A PLFE BRI 3
¥ 75 4 249 A TR
% SF, e PNy
Questions
. B2 AHE? 2. B2k
3. EERTLT? 4. FAHRLED?
5. NETRFT 0 ATRAT? 6. DEGRBRATA?
7. RAXFAT2EGFR? 8 WS E LY
9. A BT ? 10.  BEHE? RATLFA?
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